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13:50 60 30.0 5| {BRig013:50 Fz (RPHERKSE)
15:25 60 30.0 BE| Rige15:25 Fz (REAEHE)
29t| 420.0 (7%) 210.0 3 HKEC: 1560.0, PH: 6.5

EORGEB AT R IRIE RN (60 vs 42
ZRIASCRRIERE43. 0 ml.

.0)

large discrepency for begining water status (23:282.0), set to 23 ml.
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08:35 42 30.0 BE| 1Ri%@08:35 RHEIZF (KREERE)
09:35 42 30.0 Ag| 1Ri%@09:35 KENFEF (KRAEEES)
10:45 42 30.0 B5| 1Ri%e10:45 KRHEF (RAEHS)
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14:40 42 30.0 BE| BRi%e14:40 RHEF (KBAEZRS)
15:45 42 30.0 Ag| 1Ri%e@15:45 KEEF (KBEES)
Z3t+| 336.0 (8%) 240.0 323 %EC: 1560.0, PH: 6.5

large discrepency for begining water status (21:282.0), set to 21 ml.
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